The Golden Ratio
Name:_________________________
Date:_______________
Period:________
A seemingly coincidental number exists that repeats itself several times in nature called Phi (Φ). In this experiment, you will attempt to find that number by measuring several body parts to see if they fall in line with this “Golden Proportion” ratio.
Measurements and Ratios:

#1 Tip of head to the floor (without shoes)

Member 1      __________ cm        __________ m       __________ mm

Member 2     __________ cm        __________ m       __________ mm

Member3     __________ cm        __________ m       __________ mm

#2 Belly button to the floor (again, no shoes)

Member 1      __________ cm        __________ m       __________ mm

Member 2     __________ cm        __________ m       __________ mm

Member3     __________ cm        __________ m       __________ mm

        Determine ratio by dividing measurement #1 by measurement #2  (ratio needs to be in number not fraction)
Ratio of member 1  _______________

Ratio of member2  ________________

Ratio of member3  ________________

      Average  ratio  ___________

#3 Standing with your arms at your side, measure from the tip of the shoulder to the fingertips( use your dominant arm)
Member 1      __________ cm        __________ m       __________ mm

Member 2     __________ cm        __________ m       __________ mm

Member3     __________ cm        __________ m       __________ mm

#4 Also standing with your arms at your side, measure the length from your elbow to the fingertips using the same arm from #3.

Member 1      __________ cm        __________ m       __________ mm

Member 2     __________ cm        __________ m       __________ mm

Member3     __________ cm        __________ m       __________ mm

        Determine ratio by dividing measurement #3 by measurement #4

Ratio of member 1  _______________

Ratio of member2  ________________

Ratio of member3  ________________

        Average ratio ____________

#5 Now using  just one of the members of your group, measure the distance from the joint  where the finger attaches to the hand to the end of the finger.

Member ____      __________ cm        __________ m       __________ mm

#6  Now measuring the same member,  measure the middle joint of the same finger to the end of the finger

Member ____      __________ cm        __________ m       __________ mm

        Determine ratio by dividing measurement #5 by measurement #6

               Ratio of member   _______________

Analysis:   According to Da Vinci the number for Phi is 1.618. For each of your ratios and your average ratios determine the percent error by using the following formula:

                   Actual value ( 1.618)  -  Experimental  ( your ratio)        X      100  =      % of error  
                                              Actual ( 1.618)
Show all your work and label each calculation.

Questions:

1) Which ratio had the smallest percentage of error?

2) Which ratio had the largest percentage of error?

3) Why might your fist two ratios be more accurate than the third?
 

